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Mathematic I 

Revision:  

1. Vector. 

2. Vector /Cross Product. 

3.Complex Number 

4. Matrix. 

5. Determinates. 

6. Grammer rule. 

7. Integration methods/ powers of trigonometric 

function 𝐬𝐢𝐧 𝜽&𝐜𝐨𝐬 𝜽. 

8. Integration methods/trigonometric substation. 

9. Integration methods/partial fraction. 

.. Integration by long division10 

11. Integration methods/by part. 

12. Tubular Integration 

13. Integration application/area under the curve. 

14. Integration application/volume. 

15. Integration application/length of curve.  

16. Integration application/area of surface. 
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 Vector1. 
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.Properties of Vector 

1. U±V=V±U 

2. a(U+V)=aU+aV  

3. U.V= V.U(Dot product) 

4. angle between two vector 
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5.Vector Projection. 
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-Unit Vector: 
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)1Z-2=(Z3)  ,V1Y-2=(Y2) , V1X-2=(X1V 

Unit vector=
𝒗

|𝒗|
=

𝑷𝟏𝑷𝟐̅̅ ̅̅ ̅̅ ̅̅

|𝑷𝟏𝑷𝟐|̅̅ ̅̅ ̅̅ ̅̅ ̅̅ 

 

 1. P1P2⃑⃑ ⃑⃑ ⃑⃑ ⃑⃑ ⃑⃑ ⃑⃑ ⃑⃑ ⃑⃑  = V1 i + v2 j + v3 k

= (x2 − x1)i + (y2 − y1)j + (z2 − z1)k 

=(3-1)i+(2-0)j+(0-1)k=2i+2j-k 

 


